class ExecEnvl[ [ Contextl U

«Mock»
Ui : UiComponent

[
L
rp_how lers : How lersClient

pp_how lers : How lersServer
]
L

«HasThread» =]
MySystem1: System1

[]
L

rp_slave : SlaveClient

pp_slave : SlaveServer
]
L

«Mock»
Slave : SlaveComponent




class ExecEnv2[ [ Context2 U

«Mock»
Ui : UiComponent

[]

rp_how lers : How lersClient

pp_how lers : How lersServer

rp_checker : CheckerClient —
L

L1
MySystem2: System2 =

[]

pp_checker : CheckerServer
L

rp_slave : SlaveClient

pp_slave : SlaveServer

-
L

«Mock»
Checker : CheckerMock

L
«Mock»

Slave : SlaveComponent




]

component System2[ [&j S stemZJ
P Y [ Y ] pp_how lers : How lersServer

d_pp_howlers : How lersServer

L
Howlers : HowlersComponent g]

d_rp_checker : CheckerClient —
L]

[]
L1
d_rp_slave : SlaveClient

rp_checker : CheckerClient rp_slave : SlaveClient
[ [

L L




(state machine CheckerFsm| CheckerFsmu

i

Idle

pp_checker->Check() / pp_checker->CbChecked();

L Checking

pp_checker->Check()

[ Loop

SF_2:SubFsm
o
>

Exitl Entry1

Composite

Al

=




]

component Systemi[ [iFj System1 U

d_rp_checker : CheckerClient

d_pp_checker : CheckerServer

pp_how lers : How lersServer

d_pp_howlers : How lersServer

]

L
Howlers : HowlersComponent g]

L
Checker : CheckerComponent 5|

[]
L1
d_rp_slave : SlaveClient

rp_slave : SlaveClient
1

L




(state machine CheckerServerPsm([ [E CheckerServerPsm u

( Idle

Check()

/ CbChecked();

( Checking




(state machine SubFsm[ 2 SubFsm U

Entryl

Again

Exitl




package SlaveProtocol[ [E SlaveClasses U

SlaveClient
1
AN
/
AN
, AN
2 Y
ISlave O ICbSlave O
+Start() : void +CbOutSync() : void
+Stop() : void +CbStarted() : void
+ChbStopped() : void
IZ8 Z
N /
\ /
N /
w(
L1

SlaveServer




package How lersProtocol [ 2 How lersClasses U

HowlersClient

IHowlers

+Getinfo() : int
+Pause() : void
+Slow () : void
+Start() : void
+Stop() : void
+Test() : void

ICbHow lers

O

+ChbPaused() : void
+CbSlow ed() : void
+CbStarted() : void
+ChbStopped() : void
+CbOutSync() : void

7

%28 /
N /

v

L
HowlersServer




(state machine How lersServerPsm([ [Z How IersServerPsmU

«NativeTrigger»
Start() ( dle ./ CbStopped(); | S
r (
Stop()
( Active
[ Starting ] ( OutSync ]
«NativeTrigger» «NativeTrigger»
/ CbStarted(); / CbOutSync();
- Busy
Slow ()
Pause() J
{ Pausing Test() { Slow
«NativeTrigger»
/ CbPaused();
( Test ]




package CheckerProtocol[ ﬁ CheckerClasses u




(state machine CheckerCiientPsm[ 4 CheckerClientPsm u

( Idle

«NativeTrigger»
/ Check();

CbChecked()

( Checking




(state machine SlaveClientPsm([ [ SlaveClientPsm U

Idle
«NativeTrigger»
I Start(); CbStopped()
[ Starting ) ( Stopping J
ChStarted() «NativeTrigger»
~ / Stop();
( Busy
CbOutSync()




component CheckerComponent| CheckerOomponentU d_pp._checker : CheckerServer

pp_checker : CheckerServer

L1
Checker : CheckerClass




component How lersComponent [ How IersOorrponentU d_pp_how lers : How lersServer

pp_how lers : How lersServer

S ——]

Howlers : HowlersClass
[
L L1
rp_checker : CheckerClient rp_slave : SlaveClient
d_rp_checker : CheckerClient d_rp_slave : SlaveClient
! R
L L1




(‘state machine HowlersFsm([ [ How IerstmU

«SyncReturn»

pp_how lers->Start() /

rp_slave->Start(); rp_slave->CbStopped() /

pp_how lers->ChStopped(); ﬂ ing

pp_how lers->Stop() /
rp_slave->Stop();

Active

«SyncReturn»
rp_slave->ChStarted() / rp_slave->CbOutSync() /

pp_how lers->CbStarted(): pp_how lers->CbhOutSync();

«SyncReturn»
pp_how lers->Slow ()

pp_how lers->Pause() «SyncReturn»)

/ pp_how lers->CbPaused();

W

/ rp_checker->Check();

rp_checker->ChChecked()

pp_how lers->Getinfo()




(state machine SlaveServerPsm[ SIaveServerPsmu

,—( Idle ]H‘

Start() «NativeTrigger»
/ CbStopped();
( Starting ] ( Stopping J
«NativeTrigger» Stop()

/ CbStarted(); \H( Busy ]_/

«NativeTrigger»
/ CbOutSync();




(‘state machine How lersClientPsm[ [E How IersCIientPsmU

f____________{ Idle

o osopRedd (" gopping )

«NativeTrigger» «NativeTrigger»
/ Start(); / Stop();
«NativeTrigger» Active
m / Getinfo();
>{ QutSync ]
[ Starting ] CbOutSync()
ChStarted
\ 0 Busy «NativeTrigger»
/ Slow ();
«NativeTrigger»
/ Pause();
«NativeTrigger»
( Pausing | Test(); [ Slow ]
CbPaused()
( Test ]




